
Adding and Subtracting up to million without carrying (H - set 2)
TEST 2

Name:

Time: Score: /

1) 868462− 561152 = 16) 393501 + 204343 =

2) 801473 + 180514 = 17) 212142 + 540533 =

3) 708536 + 220362 = 18) 804867− 503036 =

4) 460873− 160622 = 19) 352980− 120660 =

5) 467366− 364161 = 20) 350821 + 303051 =

6) 630718− 500106 = 21) 401730 + 505117 =

7) 905766− 105415 = 22) 974249− 963224 =

8) 332967− 301146 = 23) 2668899− 212119 =

9) 978946− 806331 = 24) 2895534− 534212 =

10) 895381 + 2416 = 25) 711261 + 37401 =

11) 5632262 + 206615 = 26) 563378− 403317 =

12) 1789457− 414031 = 27) 265559− 30532 =

13) 298917− 8515 = 28) 444238− 201013 =

14) 638572− 208132 = 29) 305905 + 694014 =

15) 627743− 227510 = 30) 520307 + 429532 =

Mathematics: Mixed - Level 7 - Horizontal - Set 2 35 © workulum.com

https://www.workulum.com

